6x-3y x+4y 4x-5y

2 3 6
@ 2x+2y @)2x -2y ® x+y
@ x+2y ® 2x+y

_ 3(6x—3y) —2(x +4y) — (4x - by)
6
2x — 2y

12x-12y
= =




2 % x o T A7 B Shh?

D 1-3x+2x%+4x2 @ -x2+5x+1

@ x2-8y+1 @ 4x*> +3x-1
1

&) -1




O -2x2-x+8 (@)2x2+x—8 ® 2x2-3x-2

@ —4x2-3x-2 ® —-4x2-3x-8




D 2x-1 @ 2x+1 ® 2x-12

(3x—4) - (x+3)
=3x—-4-x-3=2x—-7




- (2x* —ax+5) 4 (4x* = 3x+b) = cx® +6x+7 (T, a,b,c = FF)

& WESh= a, b, ¢ ol 5t 2a + b — ¢ 9] & Fotoet
=1

>
|> b= 28

od =

B

—(2x% —ax+5) + (4x2 — 3x + b)
=-2x>+ax—-5+4x>-3x+b
=2x>+(a-3)x-5+b

=cx? +6x+7

a-3==6

a=9

-5+b="7

b=12

=2
“2a+b-c=184+12-2=28




© 42 MR BZ a, b, ¢ o HoF, at b+ c = Akl
(Bx2—ax-T)— (x> +2x+b) =cx? +5x—4

@ 7 @ 5 ®@-5 @-s ©-9

B ~

(FH) =3x2—ax-7-x>-2x-b
=2x2—(a+2)x-(7T+b)
=cx?+5x—4

2=c¢,—(a+2)=5—-(7T+b)=-4

La=-T7,b=-3 ¢c=2

webH, a+ b + c = -8 oIk,




ohe [ rel Sl Be AL e 2
|

olg] 717 57t Qe Alo] AL |

o) 202 o F FolA At
D [2BT) - (ATT) — [T
@ [HZE9] — (&223) — {53}
G)rz3) ~ (385} — W23
@ {(3Y3) — B3] —~ (2T3)
® (ABE) - [(EE] - [585)
Z3) —~ {F

oA 742 #E7F e A9 AN (&
[Hg3]o £02 BFE & 5




~3x2 + 2x o o] A& Tlsfof
=|9iek. ol| 412 Fstofel,
> [l J

> ®™E . —dx?—x

& Ze Axske WMHY »2 + 3x 7t

ojH A& Azt & o
=HME A4

—3x% 4+ 2x—A= x® + 3x
A= -3x% +2x - (x? + 3x)
A=-3x24+2x—x*>-3x
A=—-4x2—x




9.

=2y, 4 o] gre IEm9 (F,x£0, y£0)

x+y x-Yy

2 5 2 3 4
o; ©; ®3 @3 ® 3
L4 o x=2yE HYstA

X+y x-—Yy

2

y .y .y 2., 5

2y+y 2y-y 3y y 3 3




10.

2y—{x-Bx+dy-[ D=-3x+7y
- (-2 =4y +[ ) =-3x+7
2x+6y-[ |=-3x+7y

[ J=5x-y




11. A5 ab o st Tx -2y - {5y - (x=5y)} =ax+by d W, a-b
o] & ool

7x—2y—{5y—(x—5)’)}
=T7x—2y— (5y—x+5y)

= Tx—2y— (—x+ 10y)

= Tx—2y+x— 10y
—8x—12y

o|BZ g=8, b=-12 o[tk
“a-b=8-(-12) =20




12. [ et

|

o7 b3 et A& Tstelet.

3x — [7x— {6x—2y— (|:|+2y) —4x}] =—-4y+x

[
[—

>
> ®g: —3x

B

3x — [7x— {6x—2y—(\:|+2y)—4x}] =-4y+x
3x—7x+6x—2y—\:|—2y—4x:—4y—|—x
—2x—4y—\:|:—4y+x

. |:|:—3x




1

1 11 11
13. x+y+z=0¢ ‘Iﬂ,x<—+—)+y(—+—)+z(—+—)94%k:8:
y Z z X Xy

TFolH? (B x#0, y#£0, z#0)

Il
T
—_
S~—
4
—
,l_k‘< =
S~—
< | =
e
—
|
—_
S—
Il
|
w




14. F o34 A, Bol Hi5tod AxB = A-2B 2 A2 514k A = x® —4x+2
., B=1x?+3x-5 o] tI5to] (A« B) « B & 75| oFH?

O -3x2-16x-22 (@)—3x2 —16x + 22
@ 2x%2 - 14x + 21 @ 2x2 - 15x+22

® 3x% + 14x + 22

B ,
(AxB)*B=(A-2B)-2B=A-4B°|E&

(x2 — 4x + 2) — 4(x® + 3x - 5)

=x%—4x+2-4x* - 12x+20

= —3x% — 16x + 22




2 Bofor g

15. o % 4] —%

ol vzl ARE e o7
1 4 3

A HEAA e ol Hch

a+(-3) =2 a=1x(2)=

=] AR %X (‘Z) 136
3

" 16

rid
e
rlo
|




